far = AT R ET T Bl i 2 AN A

i =

(B4 5]« AARND )

A F64E5 H A H BL{E
HT HK A0 (58) A (40) An GH
H #HT 478 388 386 774
AT 1,758 1, 663 1,789 3,452
JHET 967 896 823 1,719
== 1T 1,288 993 1,071 2, 064
FFHT 1,973 1,830 1,897 3,727
JTHT 1,683 1,703 1, 852 3, 555
i 859 931 975 1,906
A AET 623 519 563 1,082
At ZEHT 896 852 880 1,732
BT 685 615 624 1,239
HAET1 T H 894 847 852 1,699
HARET2 TH 801 774 766 1,540
PEFTIR 1 T H 2, 201 1,825 1,958 3,783
VEETIR 2 T H 979 878 911 1,789
FRET 1T H 1, 590 1,308 1,646 2,954
T2 TH 1,259 943 1,118 2,061
kAT 3 T H 1, 461 1,436 1,553 2,989
T4 TH 2,906 2,648 2, 886 5, 534
SRHET 947 897 954 1,851
FRAEHT 1,192 1,137 1,231 2, 368
EFIT1 TH 514 443 489 932
EJFET2 TH 777 831 782 1,613
KT 3 T H 733 718 698 1,416
EJFIT4 TH 223 222 220 442
EJFET5 TH 494 463 516 979
AL P IR BT 1,122 1,136 1,084 2,220
[ B AT 1, 587 1,628 1,760 3, 388
FiEs 1,205 1,238 1,286 2,524
E1TH 426 454 497 951
EE 2 TH 644 738 756 1,494
tE3TH 463 519 518 1,037
EE4 T H 408 515 494 1, 009
FAZENT 1,433 1,058 1,096 2,154
=L 710 683 729 1,412




far = AT R ET T Bl i 2 AN A

i =

(B4 5]« AARND )

S F64E5 A K HBIUE
HT 4 H Ao () A0 (&) UNEINGY!
Z A LHT 1,022 811 1,001 1,812
ERNET 976 1,087 1,077 2, 164
KETHH 170 96 154 250
[icg gzl 868 909 866 1,775
HOHTHHT 1,002 1,067 1,062 2,129
KFEHE 1,745 2, 020 1,991 4,011
KFFRIL 1,536 1,530 1,595 3,125
Al - /N 6,217 6, 354 6, 350 12,704
KT TNLEm 4,965 5, 399 5, 389 10, 788
KR EE 4, 844 4, 584 4, 655 9, 239
WAL 952 790 840 1,630
[EREa 498 408 406 814
S 1,532 1,389 1,475 2,864
EoE1TH 562 552 522 1,074
BEo=2TH 718 647 657 1,304
KFEA K 4,848 5,010 5,072 10, 082
KFEFIE 3,419 3, 602 3, 658 7, 260
KFA 11,100 11,452 12,018 23, 470
K7 Eilin 2,000 2,035 2,018 4,053
/INFFRET1 TH 2,631 2,307 2, 680 4,987
/INFFRET2 TH 1,296 1,241 1,193 2, 434
/INFFRET3 TH 2, 435 2,181 2, 444 4,625
/INFFRET4 TH 1,619 1, 502 1,518 3, 020
KEd s 1,061 1,138 1,130 2,268
KFEFE 2, 368 2,536 2, 634 5,170
KFAH A A 733 618 720 1,338
== = 868 992 990 1,982
KFEdsit 80 111 91 202
1 T H 916 977 1,018 1,995
2 TH 992 1,104 1,108 2,212
B3 T H 877 767 889 1, 656
B4 TH 672 684 779 1,463
w5 TH 791 782 862 1,644
KFEWRZF 318 306 320 626




far = AT R ET T Bl i 2 AN A

i =
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BI64E5 H K H BiAE
my 4 A AR (B AR (&) AR GH
KT 204 249 231 480
KPR 805 937 965 1,902
RF-H HH 141 177 175 352
KFBTH 152 184 164 348
KFHIH 16 20 19 39
KFFE A 464 542 492 1,034
Pl 1 TH 1,060 1,006 1,142 2,148
il E2TH 1,130 1,120 1,178 2, 298
=M1 TH 933 982 1,056 2,038
M2 TH 348 317 387 704
3 TH 832 840 885 1,725
A TH 1,201 1,113 1,167 2,280
HRLAr 1 TR 1,649 1, 464 1,599 3, 063
WL F2 TH 1,417 1,530 1, 542 3,072
Bkl 3 TH 782 825 920 1,745
WL F4 T H 386 233 316 549
WL E5 T H 157 149 172 321
WL 6 TH 588 486 568 1,054
Pl 1 TH 1,079 1,096 1,078 2,174
w2 TH 328 333 367 700
farE1TH 1, 506 1,430 1,398 2,828
My 2TH 696 724 741 1,465
M3 TH 856 821 825 1,646
#1TH 276 343 300 643
H2TH 271 322 325 647
#3TH 1,394 1,393 1, 458 2,851
= &1TH 363 425 397 822
= E2TH 187 218 218 436
= &3TH 290 358 339 697
=E4TH 431 484 451 935
—&5TH 682 714 699 1,413
Heo 356 412 392 804
| 227 274 279 553
WA2TH 950 913 902 1,815
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SFn64E5 H K HBE
i) % A (59) AB (%) UNEGD)
WA3TH , 068 1,353 1,488 2,841
WAR4TH 101 75 112 187
WA7TH 334 342 368 710
WA TH , 540 1,135 1, 365 2,500
FRER1ITH , 732 1,823 1,873 3,696
FRER2TH 930 988 964 1,952
1 TH 233 251 263 514
2 TH 515 607 645 1,252
It 3TH , 039 1,120 1,168 2, 288
4 TH 60 77 71 148
e [ B 364 437 403 840
bR T 605 552 624 1,176
AT IR 593 702 723 1,425
WETIR1 T H , 497 1,470 1,327 2,797
WATIR 2 T H , 396 2, 641 2,439 5, 080
WRETIR 3 T H , 547 1,633 1,448 3,081
WATIR 4 T H 455 522 478 1, 000
WAETIR5 T H 832 770 752 1,522
RPTRFIE 1 T B ,334 1, 456 1,279 2,735
WHATRAIE 2 T H , 354 1,388 1,304 2, 692
WHTRAIE 3 T H 865 942 871 1,813
<TDEHE1ITH 441 298 370 668
<TDEH2TH 721 666 597 1,263
<TDEHE3ITH 873 716 801 1,517
TER1ITH 151 154 139 293
TER2TH 410 515 499 1,014
HEm 3 T H 546 606 589 1,195
TER4TH 591 639 636 1,275
MMRE1TH 677 742 767 1,509
MMRE2TH 714 759 837 1,596
INFFRFE1TH 547 596 661 1,257
INFEFRFE 2 TH 545 573 604 1,177
INFfER 3T H 897 1,007 976 1,983
INFfER4 T H 800 973 955 1,928
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BI64E5 H K H BiAE
i) W A (59) AR (&) AR GH
INFHER 5 T H 563 757 682 1,439
/INFFERG 6 T H 611 599 630 1,229
/INFFEET 5 T H 577 588 584 1,172
WNFRRTET 1 T H 788 783 761 1, 544
/WNFfRTET 2 T H 565 615 601 1,216
/NFFRTHT 3 T H 850 1,065 1,071 2, 136
JEEFHHET 1 T H 90 102 115 217
LB 2 T H 26 36 21 57
¥ 1 TH 292 322 321 643
¥ 2 TH 155 184 181 365
¥ 3 TH 192 140 200 340
B 1 TH 99 122 120 242
kB2 TH 141 175 172 347
B3 TH 142 168 179 347
EFH1TH 840 822 817 1,639
E#FH2TH 1,268 1,382 1, 350 2,732
EHFIE3ITH 1,420 1,566 1,572 3,138
EHFI4TH 1,350 1,446 1,578 3,024
EHFIESTH 1,724 1,927 1,954 3,881
INEEE 878 952 952 1,904



















